2 I —XiRE

- BEYREREHMERERT




WER HU—XER- B EYRER AR S LR (SMTEE)

% # s - BRHE s ¥ 8 i & & =
BRI 7,606,150 + 196, 566 7,802,716
EEAGHE 7,606, 150
EERE 196, 566
Z Ot [ 1 7,606,150 x 53.85% ( 35% =+ (1 — 35% ) ) 4,095,911
KB RE 7,802,716 + 4,095,911 11, 898, 627
—REEERE 11,898,627 x 53.85% ( 35% = (1 — 35%) ) — 6,037 6,401, 373
EX T 11,898,627 + 6,401,373 18, 300, 000
HETEELE 18,300,000 x 10.00% 1, 830, 000
¥BERAH 18,300,000 + 1,830, 000 20,130, 000




BERNRE HU—XER- B EYRER AR S LR (SMTEE)

% [ BA& - AR B B B ® # " =
E#E R 7,802,716
JIL—XIRE - BEMRERERMEREER 7,802,716
JIL—XIRE - BEMRERERMEREER 7,802,716
EEAGE 7,606, 150
FIEE 448,100
1 FHE#RE 1.00 448,100 448,100
=
E 330, 500
2 RIS 1.00 126, 500 126, 500
&
3 REREBE 1.00 204, 000 204, 000
=l
KRR RBOER 20, 150
4 NEARAMRROER 1.00 20, 150 20, 150
=
SREFENOER 795, 750
LEBFENOER 1.00 795, 750 795, 750
=
BEREOMEN 983, 000
6 BEHRFOMER 1.00 983, 000 983, 000
=
TLARKREH (F) OFER 1,376, 200




BERNRE HU—XER- B EYRER AR S LR (SMTEE)

% [ BE - BT B B B T # wm B

T TLRAFEREN (B) OFER 1.00 1,376, 200 1,376, 200
=

EBENDOER 2,083, 350

8 EMEMDIEM 1.00 2,083, 350 2,083, 350
=

LEEEE (Webfsz() 268, 000

9 REEEE (Webfx) 1.00 268, 000 268, 000
=

REFEE (HEHN) 539, 850

10 2BFEE (FEHBX) 1.00 539, 850 539, 850
=

REEFEE (RGER) 253, 800

11 SBHFEE (R5%ERK) 1.00 253, 800 253, 800
=

BFHALEDOII L 36, 100

12 HALEDOIHI L 1.00 36, 100 36, 100
=

(522 471, 350

13 SREEMER 1.00 471, 350 471, 350
=

EEEE 196, 566

EHARE 72,756

14 =2HAME 1.00 72,756 72,756
=




BEARE

IN—XRE-BEOREREREREES (SN7EE)

% L B - K& B g i ® & B =
S 60, 000
15 XBHRA 1.00 60, 000 60, 000
=
BT 63,810
16 #LE 1.00 63,810 63,810
=




Rifiz -/ \v7r—o

IN—RXRE- BEYRERENMEREER (FR7EE

&5 1
B FTEER =1
£ 7 R - BIRTE BARL 2 B Of € # B &
HEnR
A 1.00 71, 500. 00 71, 500
F{EHED (55
A 1.50 66, 900. 00 100, 350
HEn (A)
A 2.50 59, 600. 00 149, 000
e (B)
A 2.50 48, 500. 00 121, 250
= it 1E%HeH - 1.00K 448, 100. 00 448, 100
&5 :2
2 . BATHE IEED)
£ 7 R - BIRTiE BAGL 2 B Of € # B =
F{EHED (55
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
= it 1YEZHER - 1.00[E 126, 500. 00 126, 500
%5 :3
B RBRBE EED)
£ 7 R - BIRTiE BAGL 2 B Of € # B =
HEnR
A 1.00 71, 500. 00 71, 500
F{EHED (55
A 1.00 66, 900. 00 66, 900
HEn (A)
A 1.00 59, 600. 00 59, 600
= it 1YEZHER - 1.00[E 204, 000. 00 204, 000




Rifiz -/ \v7r—o

IN—RXRE- BEYRERENMEREER (FR7EE

E2=
B AFEARERDIER =1
£ 7 R - BIRTE BARL #H = B Of € # B &
A (C)
A 0.50 40, 300. 00 20, 150
= it 1E%HeH - 1.00K 20, 150. 00 20, 150
55
B REFEROER =1
£ 7 R - BIRTiE BAGL #H = B Of € # B =
F{EHED (55
A 3.00 66, 900. 00 200, 700
HEm (A)
A 4.50 59, 600. 00 268, 200
e (B)
A 3.00 48, 500. 00 145, 500
A (C)
A 4.50 40, 300. 00 181, 350
= it 1YE%HeH - 1.00K 795, 750. 00 795, 750
&S :6
2 BEREOER =1
£ 7 R - BIRTiE BAGL #H = B Of € # B =
F{EHED (55
A 5.00 66, 900. 00 334, 500
HEm (A)
A 7.50 59, 600. 00 447,000
A (C)
A 5.00 40, 300. 00 201, 500
= it 1YE%HeH - 1.00K 983, 000. 00 983, 000




Rifiz -/ \v7r—o

IN—RXRE- BEYRERENMEREER (FR7EE

&5 .17
B TLREREH () OFER =1
£ 7 R - BIRTE BARL 2 B Of | # B &
FEHED (55
A 7.00 66, 900. 00 468, 300
HEn (A)
A 10. 50 59, 600. 00 625, 800
A (C)
A 7.00 40, 300. 00 282,100
= it 1EXHE 1.00= 1, 376, 200. 00 1, 376, 200
%5 :8
B EREHOER =1
£ 7 R - BIRTE BARL 2 B Of | # B &
FEHED (55
A 8.50 66, 900. 00 568, 650
HEn (A)
A 12.75 59, 600. 00 759, 900
e (B)
A 8.50 48, 500. 00 412, 250
A (C)
A 8.50 40, 300. 00 342, 550
= it 1EXHE 1.00= 2,083, 350. 00 2,083, 350
59
2 KBHFEE (WebR) =1
£ 7 R - BIRTiE BAGL 2 B Of o # B =
F{EHED (55
A 2.50 66, 900. 00 167, 250
A (C)
A 2.50 40, 300. 00 100, 750
= it 1YE%HeH - 1.00K 268, 000. 00 268, 000




Rifiz -/ \v7r—o

IN—RXRE- BEYRERENMEREER (FR7EE

H5:10
& REBEEFEE (d@E) 1LY
£ 7 R - KT By = B Of & | # B &
FEHED (55
A 3.00 66, 900. 00 200, 700
HER (B)
A 4.50 48, 500. 00 218, 250
A (C)
A 3.00 40, 300. 00 120, 900
& it EZBER - 1.00= 539, 850. 00 539, 850
&H5: 11
& REBEEFEE (R5%R) 1LY
£ 7 R - KT By = B Of & | # B &
HER (B)
A 3.00 48, 500. 00 145, 500
Hftt 8
A 3.00 36, 100. 00 108, 300
& B 1EZBER - 1.00 253, 800. 00 253, 800
5:12
B BIALEDOZH L 1LY
£ 7 R - KT By = B Of & | # B =
Hftt 8
A 1.00 36, 100. 00 36, 100
& B EZBER - 1.00 36, 100. 00 36, 100




Rifiz -/ \v7r—o

IN—RXRE- BEYRERENMEREER (FR7EE

H5:13
B |MESER 15ty
2 Lo R - KT By = B ff € &8 # H %
FEHED (55
A 1.50 66, 900. 00 100, 350
HER (A)
A 2.50 59, 600. 00 149, 000
A (B)
A 2.50 48, 500. 00 121, 250
AR (C)
A 2.50 40, 300. 00 100, 750
& it S .00z 471, 350. 00 471, 350
5:14
&7 BHARR Ity
2 Lo R - KT By = B ff € &8 # w %
EXRARE
= 1.00 72, 756. 00 12, 156
& B 1EZBER - 1.00 72, 756. 00 72, 756
H5 : 15
27 EBHAES Ity
2 Lo R - KT By = B ff € &8 # w %
(BHRERE
= 1.00 60, 000. 00 60, 000
& it EZBER - 1.00 60, 000. 00 60, 000
5:16
& HiLE 1LY
2 Lo R - KT By = B ff € &8 # w %
Bk
= 1.00 63, 810. 00 63, 810
& B 1EZBER - 1.00 63, 810. 00 63, 810




